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QUESTION 1

A Symmetrix management Console user has been asked to configure Replication mirror. Which Replication Models can
be enabled? 

A. SRDF/A, SRDF/S, and TimeFinder/Snap 

B. SRDF/A, and TimeFinder/Clone, and TimeFinder/Snap 

C. SRDF/A, SRDF/Adaptive Copy Disk, and TimeFinder/Clone 

D. SRDF/S, TimeFinder/Clone, and TimeFinder/Snap 

Correct Answer: A 

 

QUESTION 2

A customer has implemented a symclone create command with the pre copy option. The clone session was than
activated. At this point what is the state of the clone target device? 

A. White Dashboard (WD) 

B. Read write enabled (RW) 

C. Not Ready (NR) 

D. Read Only enabled (RO) 

Correct Answer: B 

 

QUESTION 3

What status of Time Finder/Snap virtual devices will be used as a control device in an Open replicator implementation
devices? 

A. Read Write 

B. Write Dashboard 

C. Held 

D. Not Ready 

Correct Answer: B 

 

QUESTION 4

After an extended outage of the primary site, a large number of invalid tracks have accumulated on the R2 



devices. 

What can be done to minimize application response time impact, when resuming production on R1 

devices? 

A. Invalidate the tracks on R1, write-disable R1, and refresh R1 

B. Run a restore command 

C. Run an R1 update followed by a failback 

D. Write-disable R2 and merge the track tables 

Correct Answer: C 

 

QUESTION 5

Where is the volume Logix Database maintained starting with DMX-3? 

A. VCM gatekeeper 

B. Symmetrix logical Volume 

C. Symmetrix File System 

D. VCM database. 

Correct Answer: C 

 

QUESTION 6

One of the requirements, during an Open Replicator implementation is that production application should not be
implemented by open Replication session. An analysis of the control Symmetrix showed that FA ports are currently 70%
utilized. How should pace and ceiling be configured? 

A. Pace should be set to 0 and Ceiling should be left at the default 

B. Pace should be left at the default and Ceiling set to 30 

C. Pace should be left at the default and Ceiling set to 100 

D. Pace should be set to 9 and Ceiling should be set to 70 

Correct Answer: B 

 

QUESTION 7

What is the maximum number of HBAs that can access a Symmetrix V-Max array FA port concurrently? 

A. 256 



B. 512 

C. 128 

D. 1,024 

Correct Answer: A 

 

QUESTION 8

What is the result of one or more source (R1) devices in an SRDF/S consistency group cannot propagate data to their
corresponding target (R2) devices? 

A. RDF daemon suspends the data propagation from the affected R1 devices while maintaining consistency among the
remaining devices. 

B. PowerPath suspends data propagation to the R1 devices in the consistency group (trip the con-group) 

C. EMC software trips the con-group, thereby suspending data propagation from all R1 devices in the consistency
group 

D. Target (R2) devices will be Read/Write enabled at the R2 site. 

Correct Answer: C 

 

QUESTION 9

Which protection type gives the best performance? 

A. RAID 1 

B. RAID 5 (3+1) 

C. RAID 6 

D. RAID 5 (7+1) 

Correct Answer: A 

 

QUESTION 10

A customer using Symmetrix Virtual Provisioning reports their thin pool has reached 50% utilization. At which utilization
level would you recommend adding more capacity to the thin pool? 

A. 80% 

B. 50% 

C. 70% 

D. 60% 



Correct Answer: D 

 

QUESTION 11

Which feature allows the contents of a BCV to remain unchanged during and after operation? Even while the BCV and
the standard is synchronized? 

A. Protected restore 

B. Full establish 

C. Symmir restore 

D. Incremental restore 

Correct Answer: C 

 

QUESTION 12

How does Delta Set Extension help in an SRDF/A deployment? 

A. Reduces RPO 

B. Reduces the amount of required cache 

C. Improves response time 

D. Absorbs bursts of host writes 

Correct Answer: D 
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